EXHIBIT A

BFAV

Bid Contact **Dom Garafola** Address **500 NE 28th Ct**

dom@allonstage.com Pompano Beach, FL 33064

Ph 561-750-4070

Bid Notes Please refer to the uploaded RFP proposal document for detail!

tem#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Doc
RFP 2024-02101-01	ST. Patricks Day Parade and Festival	Supplier Product Code: STPATS	First Offer - \$13,878.00	1 / lump sum	\$13,878.00	Y
	ariu restivai	Supplier Notes: Please				
		refer to the uploaded				
		RFP proposal document				
		for detail!				
		3.2(D) Large concert				
		Sound System - \$3,600				
		3.2(G) Audio Technician				
		Services (2 Techs, 10				
		hours each, \$55/hr) -				
		\$1,100 3.3(C) Concert Quality				
		Lighting System - \$2,500				
		3.3(E) Lighting				
		Technician (1 Tech, 10				
		hours, \$55/hr) - \$550				
		3.4(4) 30' x 20' Gable Top				
		Roof Cover - \$1,200				
		3.4(B) Stagehands (4				
		hands, 12 hours each,				
		\$36/hr) - \$1,728				
		3.5(A) LED Video Wall				
		16'x10' [Goal Post] - \$3,200				
		TOTAL - \$13,878				

RFP 2024-021--01-02 Pride Festival **Supplier Product First Offer - \$13,878.00** 1 / lump sum **\$13,878.00 Y**

and Concert **Code:** PRIDE

Supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) -\$1,100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200

TOTAL - \$13,878

RFP 2024-021--01-03 July 4th Celebration Code: JULY4

Supplier Product First Offer - \$13,878.00 1 / lump sum \$13,878.00 Y

Supplier Notes: Please refer to the uploaded RFP proposal document

for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) -\$1,100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200

TOTAL - \$13,878

RFP 2024-021--01-04 Veterans Day

Supplier Product Code: VET

First Offer - \$13,878.00

1 / lump sum **\$13,878.00**

Υ

Supplier Notes: Please refer to the uploaded RFP proposal document for detail!
3.2(D) Large concert
Sound System - \$3,600
3.2(G) Audio Technician
Services (2 Techs, 10 hours each, \$55/hr) - \$1,100
3.3(C) Concert Quality
Lighting System - \$2,500
3.3(E) Lighting
Technician (1 Tech, 10

hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200

TOTAL - \$13,878

RFP 2024-02101-05 100' Christmas Tree Lighting and Festivities	Supplier Product Code: TREELIGHT Supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) - \$1,100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting	First Offer - \$13,878.00	1 / lump sum	\$13,878.00	Y
	hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] - \$3,200				
4/2024		idCuma			

RFP 2024-021--01-06 Holiday Parade

Supplier Product

First Offer - \$13,878.00

1 / lump sum **\$13,878.00**

Code: HOLPARADE

Supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) -\$1,100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200

TOTAL - \$13,878

Υ

·						
RFP 2024-02101-07	Holiday Festivities	Supplier Product Code: HOLFEST Supplier Notes: Please refer to the uploaded RFP proposal document	First Offer - \$13,878.00	1 / lump sum	\$13,878.00	Y
		for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) - \$1,100				
		3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200				
		3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] - \$3,200				
		TOTAL - \$13,878				

Supplier Product 1 / lump sum **\$13,878.00** RFP 2024-021--01-08 New Years First Offer - \$13,878.00 Code: NEWYEARS

> Supplier Notes: Please refer to the uploaded

Eve

RFP proposal document for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) -\$1,100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each, \$36/hr) - \$1,728 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200

TOTAL - \$13,878

RFP 2024-02101-09	Small Concert- 1/2 day show	Supplier Product Code: SMCON	First Offer - \$8,070.00	4 / each	\$32,280.00	Υ
		supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(D) Small Sound System - \$1,000 3.2(G) Audio Technician Services (1 Tech, 8 hours \$55/hr) - \$440 3.3(A) Small Lighting System - \$350 3.3(E) Lighting Technician (2 Techs [ONE FOR VIDEO], 8 hours, \$55/hr) - \$440				

3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 10 hours each, \$36/hr) - \$1,440 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200 TOTAL - \$8,070

RFP 2024-021--01-10 Small Concert- 1 Day

Supplier Product Code: SMCON1

First Offer - \$7,890.00

4 / each

\$31,560.00 Y

Supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(B) Small concert Sound System - \$1,800 3.2(G) Audio Technician Services (1 Tech, 10 hours, \$55/hr) - \$550 3.3(A) Small Lighting System - \$350 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30' x 20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 10 hours each, \$36/hr) - \$1,440 3.5(C) LED Video Wall 10' x 6' [Goal Post] - \$2,000 TOTAL - \$7,890

RFP 2024-02101-11	Medium Concert- 1/2 day	Supplier Product Code: MEDCON	First Offer - \$10,190.00	5 / each	\$50,950.00	Y
		Supplier Notes: Please				
		refer to the uploaded				
		RFP proposal document				
		for detail!				
		3.2(C) Medium concert				
		Sound System - \$2,500				
		3.2(G) Audio Technician				
		Services (1 Tech, 8 hours, \$55/hr) - \$440				
		3.3(B) Medium Lighting				
		System - \$750				
		3.3(E) Lighting				
		Technician (1 Tech, 8				
		hours, \$55/hr) - \$660				
		3.4(4) 30' x 20' Gable Top				
		Roof Cover - \$1,200				
		3.4(B) Stagehands (4				
		hands, 10 hours each,				
		\$36/hr) - \$1,440				
		3.5(A) LED Video Wall 16'				
		x 10' [Goal Post] - \$3,200				
		TOTAL - \$10,190				

RFP 2024-021--01-12 Medium Concert- 1 day Supplier Product Code: MEDCON 1

First Offer - \$10,410.00

5 / each

\$52,050.00 Y

Supplier Notes: Please refer to the uploaded RFP proposal document for detail!
3.2(C) Medium concert Sound System - \$2,500
3.2(G) Audio Technician Services (1 Tech, 12 hours, \$55/hr) - \$660
3.3(B) Medium Lighting System - \$750
3.3(E) Lighting Technician (1 Tech, 12 hours, \$55/hr) - \$660

3.4(4) 30'x20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 10 hours each, \$36/hr) - \$1,440 3.5(A) LED Video Wall 16'x10' [Goal Post] -\$3,200 TOTAL - \$10,410

RFP 2024-02101-13	Large Concert- 1/2 day	Supplier Product Code: LARGECON	First Offer - \$14,948.00	2 / each	\$29,896.00	Y
		Supplier Notes: Please				
		refer to the uploaded				
		RFP proposal document				
		for detail!				
		3.2(D) Large concert				
		Sound System - \$3,600				
		3.2(G) Audio Technician Services (2 Techs, 8				
		hours each, \$55/hr) -				
		\$880				
		3.3(C) Concert Quality				
		Lighting System - \$2,500				
		3.3(E) Lighting				
		Technician (1 Tech, 8				
		hours, \$55/hr) - \$440				
		3.4(4) 30'x20' Gable Top				
		Roof Cover - \$1,200				
		3.4(B) Stagehands (4				
		hands, 12 hours each, \$36/hr) - \$1,728				
		3.5(B) LED Video Wall				
		21'x12' [Goal Post] -				
		\$4,600				
		TOTAL - \$14,948				

RFP 2024-021--01-14 Large Concert- 1 day **Supplier Product Code:** LARGECON 1

First Offer - \$15,278.00

2 / each

\$30,556.00 Y

Supplier Notes: Please refer to the uploaded RFP proposal document for detail! 3.2(D) Large concert Sound System - \$3,600 3.2(G) Audio Technician Services (2 Techs, 10 hours each, \$55/hr) -\$1100 3.3(C) Concert Quality Lighting System - \$2,500 3.3(E) Lighting Technician (1 Tech, 10 hours, \$55/hr) - \$550 3.4(4) 30'x20' Gable Top Roof Cover - \$1,200 3.4(B) Stagehands (4 hands, 12 hours each,

\$36/hr) - \$1,728 3.5(B) LED Video Wall 21'x12' [Goal Post] -

TOTAL - \$15,278

\$4,600

Supplier Total **\$338,316.00**